FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
OCTAGONAL PICNIC TABLE
(ATTACHED BENCHEYS)

Az ,};ﬂ“?’ ;

P s




"Juas sired ay) UO payJew sJaquinu ay) 01 Ydyew 1ou op asayl ‘AJuo 80uaJajal 10} aJe J[qeL Sexog JO JUaJuoy) 8yl Ul S1aquinu 1ued :aloN

Sayousg

suoddnsg jeuoBeig

suoddng ssoiD

sba

doje|qeL

‘ON

uondiiosag

‘1O

S3X04d 40 LNJLNOD

Pl 1

Octagonal Picnic Table (Attached Benches)

www.ForeverRedwood.com



*3ZIS uo Buipuadap AreA [|Im arempiey InoA Jo suolisuswiq ;810N

« RRRRERRRRSRRSRRA RS

‘(sayouaq
ay) 01 spoddns feuobelp ayy yoene o)
siog % € X .91/

A R RRR AR RS SRR RRR A RRARRARRES

‘(sba)
ay) 01 spoddns feuobelp ayy yoene o)
siog ,.% S X .91/

A AR AR R RN A AR RRR N RSN A AR R ARRE AR

‘(suoddns $s0.9 a1 0] Sayousq ay) yoene
0] / 'sBa] ay1 01 suoddns $s049 ay) yoene
01/ dojsjqe: ays 01 sbs| sy yoene o)
s109 ,.%:9 X ..8/€

‘ON

Buimeaq

uondiiosag

S3IX04d 40 INJLNOD

P| 2

Octagonal Picnic Table (Attached Benches)

www.ForeverRedwood.com



1uas spred ay) U0 paxJewW siaquinu ay)
0] Yorew 10U op asay ] "Ajuo aouaiajal 10}
aJe BUIMEIQ 8] Ul SI13quinu Jaed ;310N

g sayouag

¥ suoddng JeuoBelg

I suoddng sso1)

Z sha

T dos|qeL

ON NOILdI40S3d

P|3

Octagonal Picnic Table (Attached Benches)

www.ForeverRedwood.com



Step 1: Place the tabletop upside down. After that, attach the legs (2) to the tabletop (1) with 3/8" x 6 %" bolts (A). Each part
has a series of numbers that indicate where to attach the part with the corresponding number.

3/8” X 6 %" Bolts

Step 2: Use 3/8"" x 6 %" bolts (A) to attach the cross supports (3) to the legs. Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

3/8” X 6% Bolts

P| 4

Octagonal Picnic Table (Attached Benches)
www.ForeverRedwood.com




Step 3: Turn the table over its feet. After that, attach the benches (5) to the cross supports with 3/8"" x 6 %" bolts (A). Each part
has a series of numbers that indicate where to attach the part with the corresponding number.

3/8”" X 6 %" Bolts

Step 4: Finally, use 5/16"" x 5 %" (B) bolts to attach the diagonal supports (4) to the legs. After that, attach the diagonal supports
(4) to the benches with 5/16"" x 3 %2"" bolts (C). Each part has a series of numbers that indicate where to attach the part with the
corresponding number.

5/16"" X 3 %" Bolts

R

5/16"" X5%" Bolts [~

P| 5

Octagonal Picnic Table (Attached Benches)
www.ForeverRedwood.com



This completes the Picnic Table assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 6
Octagonal Picnic Table (Attached Benches)
www.ForeverRedwood.com



